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Note :– This paper is of Seventy (70) marks divided into

Two (02) Sections ‘A’ and ‘B’. Attempt the

questions contained in these Sections according to

the detailed instructions given therein. Candidate s

s h ould lim it th e ir answ ers to th e qu e stions on th e

given answ er s h e et. No additional (B) answ er

s h e et w ill be is su ed.

   (70)      (02) 

          





       


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Section–A

–

Long Answ er Type Questions

  2×19=38

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any tw o (02)

questions only.

 (05) 

(19) 

(02) 

1. Describe in detail Weaver’s method of crop combination.



2. On the basis of which indices did Whittlesey classify

the world into agricultural regions ? Which are the

agricultural regions determined by them ?





3. Explain the concept of agricultural typology in detail.

 
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4. Explain the regional distribution of cultivated land and

cropping intensity in India.

     



5. Explain the concept of agricultural regions and describe

its approaches.





Section–B

–

Sh ort Answ er Type Questions

  4×8=32

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.

     (08)      

(08)

(04) 
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1. Throw light on the priorities of agricultural policy in

India.



2. Write an article on the central plateau and hill agricultural

regions of India.

          



3. Explain the objectives of agro-climatic regionalization

in India.



4. Explain that Green Revolution is an ecological crisis in

agriculture.

         



5. Write an article on the geographical conditions and

characteristics of plantation agriculture.





6. Evaluate the distribution and growth of irrigated area in

India.

 
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7. To what extent is the National Agricultural Policy

relevant in the context of the provisions of the World

Trade Organization ?

 



8. How is the carrying capacity method calculated ? Explain

with examples.

          



**************


